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QUESTION 1

When specifying a trigger action for an Alarm Definition, what two alarm state changes are available to be triggered on?
(Choose two.)

A. from normal to warning
B. from normal to critical
C. from critical to normal
D. from critical to warning

Correct Answer: AD

QUESTION 2

An organization has an ESXi 6.x host that contains two resource pools.

The host is being relocated to a DRS cluster.

What two actions can be taken to integrate the host into the cluster, and what would happen to the existing
ESXi resource pool hierarchy as a result? (Choose two.)

A. Place all of the host\\'s virtual machines into the DRS cluster root resource pool. The resource pools present on the
host will be deleted.

B. Create a resource pool for the ESXi host\\'s virtual machines and resource pools. The resource pools present on the
host will be deleted.

C. Place all of the host\\'s virtual machines into the DRS cluster root resource pool. The resource pools present on the
host will be preserved.

D. Create a resource pool for the ESXi host\\'s virtual machines and resource pools. The resource pools present on the
host will be preserved.

Correct Answer: AD

QUESTION 3

Which two statements are correct when licensing an ESXi 6.x host? (Choose two.)
A. ESXi licenses can be assigned utilizing the ESXi host client.

B. Bulk licensing requires vSphere PowerCLI.

C. Bulk licensing requires vSphere Auto Deploy to be enabled.

D. ESXi licenses can only be applied to ESXi hosts connected to a vCenter Server.
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Correct Answer: AB

QUESTION 4

Which two statements are true when resetting the system configuration in the Direct Console User Interface? (Choose
two.)

A. Users will remain connected until they log out manually.

B. Virtual machines will be unregistered from the ESXi host.
C. Users will automatically lose connectivity upon resetting.
D. Virtual machines will remain registered on the ESXi host.

Correct Answer: BC

QUESTION 5

You want to deploy a vApp and dynamically assign IP addresses without a DHCP server on the network. Which action
would you take to accomplish this task?

A. Enable IP pools.

B. Configure a local DHCP server in the vApp.

C. Enable NAT on the vApp router.

D. Configure the guest OS for workgroup and WINS.

Correct Answer: A
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